Answers –Tuesday 12th January 2021Early Bird (Mrs Smith’s Group)
Early Bird Maths
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                            40/60, 20/30 and 10/15 are all equivalent fractions.  
                            10/15 is not the simplest form, as both 10 and 15 can be divided by
                                 5 to get 2/3  
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Teddy and Doro are both simpitying 33

@) How do you think Dora was able to simplify the froction in

one step?
Dora found the highest common factor.

24 s 6 = a
22| +6= = 4
30 + 4= <

+8 = J - I
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5/20is equivalent to 1/4
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What frac ion of 30 is;

a) 6
b) 24
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d) 25?
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What fraction of 24 is:





image13.png




image14.png
FRACTIONS AND 'DECIMALS; . /5

“Ilove cake and always Ike fo have the largest plece.
1would raher have 4/ of @ cake thon #e”
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% *isn prime number. 'isn multiple of 10

The fraction can be simplified.
What could each number be? Explain your reasoning.

¥ Couldbe2,3,5,7,11,13,17 etc.
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4 Possessive apostrophes with plurals
1. b) the aliens’ spaceship ¢) the girl's bat d) the girls’ bat
2. a) children’s b) boys'

3. a) Joe hung up the horses’ saddles.
b) The cat sniffed at the mice's cheese.

4. a) dogs' b) trees’
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1) 64,424—534.74 = 63,889.26

2) 94935 =33,215

3) 4/6x1/8=4/480r1/12

4) 3/7+5=3/35

5) % of 335,253 = 167,626.5

6) Write 4,356,215 in words
Four million, three hundred and fifty-six thousand,
two hundred and fifteen.

7) 15%of 238 =135.7

8) 227 14/5=17/35

9) 7,423+ 14-5303/14

10)5-19=-14

11)6.45x8.4=54.18

12)Half way between 24 and 112 = 68
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a) Write the year Ronaldo won the awardin Roman
numerals. MMVIIl

b) How longago was this? 13 years

¢) How old was he when he got the honour? 23 years
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1) 424-34.74=389.26

2) 949x35=33,215

3) 4/6x1/8 =4/48

4) % of 335,252 = 167,26

5) Write 56,215 in words
Fifty-six thousand, two hundred and fifteen

6) 72+120=169

7) 3/5+7/15=16/15=11/15

8) 210+ 10=21

9) 20x9.4 =188

10) 57.28 - 7.391 = 49.889
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False

2 % doesn't simplify;
the denominator only applies to the numerator,
not the whole number.
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Simplify the fractions.

af] 8 [z] a0 [ 12 [;
Ve 5] a3 9% 3 3
N 8 |1 40 1 120 | 39
6| 6 |2 60 |4 a
4|4 8 | 2 40 | 1 A2 (3
20 |5 20 |5 200 |5 200 | 00

Describe and explain any patterns that you noticed.





